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65. Frankenstein had a box of 16 chocolates.
He gave 1/2 of the box to Wolfman.
How many chocolates did Woltman get?

1/2 x 16 = OR 16/2 =

Wolfman got chocolates.
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66. Smacky cut a mango pizza into 8 equal slices.
Then he ate 1/4 of the pizza. It took him 30 minutes.
How many slices were left?

There were slices left.
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67. Lucky Linda won 1/4 of the grand prize at the Gallivanting
Gardener’s Annual Raffle. The grand prize is 24 ladybugs.
How many ladybugs did Linda win?

Linda won ladybugs.
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68. Wally Wizard used up 1/2 of his magic

disappearing powder. He still had
13 ounces left. How many ounces of
magic powder did he start with?

Wally started with ounces of magic powder.
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